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1364 WA Lg] i 500
1365 Je AL 1E EEL 2 500
1366 JeEAE R e 500
1367 YACK Pl Fay 2 500
1368 YAE TP E] mEH = 500
1369 SR AT E LRGeS & 500
1370 YACK PGl PR 2 500
1371 JeEAE Jo YL v 500
1372 Je AT IE i 1 & 500
1373 YLK G FES P 500
1374 T AL TE 019 & 500
1375 YACK L TGNk 2 500
1376 YAE TP E] e = 500
1377 ALKl F5 V2 [H & 500
1378 YACK Pl FiAL4 2 500
1379 IR A PR & 500
1380 Je AT IE [ S=23'8 & 500
1381 KT ML P 500
1382 KT L v 500
1383 KT LGN 2 500
1384 KT SR & 500
1385 KT EEPA & 500
1386 KT B3 2 500
1387 KT TR & 500
1388 KT KA & 500
1389 KT S 2 500
1390 KT ks & 500




1391 KT PRegHt 2 500
1392 K TR g 2 500
1393 KT FEH 2 500
1394 KT 5K EN 2 500
1395 K TR HRAL i 500
1396 KT LS 2 500
1397 AT g v 500
1398 KT Ka ke P 500
1399 KT - 35 2 500
1400 K THA Mk 2 500
1401 KT JETIR =2 500
1402 Weor W e 2 500
1403 Weoie B P 500
1404 b Ak EUN s 500
1405 Wt EXE 2 500
1406 YW1 T g 500
1407 Weorm XA Mg 2 500
1408 Yo X & 500
1409 WA X BT =2 500
1410 Weor Ko 2 500
1411 Weois T i 500
1412 Weorm Wi s 2 2 500
1413 I T FAE & 500
1414 W T R P 500
1415 Weor FF5M 2= 500
1416 Wi Ttk P 500
1417 oA (s =2 500
1418 Weor FIRAE 2 500
1419 o FTARHI i 500
1420 Weorm Fa 24 =2 500
1421 Wt 70 I 500
1422 W i 5= 500
1423 Weor JICRR 2 500
1424 Weot FiSCIE & 500




1425 Weorm Lisic = 500
1426 Weot FIICLL P 500
1427 Weovm JIAE Y 2 500
1428 Yo JI R = 500
1429 Weoie 7R Iz 500
1430 Weorm FR 2 500
1431 Wi Tk & 500
1432 Weorm P P 500
1433 Weorm FIAE X 2 500
1434 Wi £ 55 I 2 500
1435 Weorm FIF 2 500
1436 Yo JIRAE = 500
1437 Weoie P P 500
1438 Weorm FICAE 2 500
1439 Wt KRR P 500
1440 DAk EK o 500
1441 Weorm e 2 500
1442 Wi FIAEA = 500
1443 Weorm FIRE: 2 500
1444 Weor JIC 2 500
1445 W o FTUKTE 2 500
1446 b Ak VR ] 2 500
1447 Weot P I 500
1448 Y T e o 500
1449 Weor JT N 2 500
1450 Weois FRNKE P 500
1451 Weovm 5 2 500
1452 Weor W 5t 2 500
1453 o FH Iz 500
1454 Weorm Fi g 2 500
1455 Wt LEE I 500
1456 oA FEH o 500
1457 o F5 1 1 2 500
1458 i Jo52 2 500




1459 o AR 2 500
1460 b i FoE & 500
1461 b g TR = 500
1462 ot Ffhnt I 500
1463 i Rk 7 500
1464 Weorm TR 2 500
1465 Wt iK% & 500
1466 W FIEE P 500
1467 Weorm F /e 2 500
1468 Yo 3 M v 500
1469 k! F = 500
1470 Weor TR 2 500
1471 Weoie Fi/NE P 500
1472 Weorm JI L 2 500
1473 Yo EHT v 500
1474 Yo FA/NL & 500
1475 Weorm AT IRA 2= 500
1476 Wi F M55 P 500
1477 Weorm FTURAR 2 500
1478 Weor SR 2 500
1479 Weois 754 P 500
1480 Weorm F 2 500
1481 oI S 2 500
1482 Y i FTRAN o 500
1483 Yo og/i RS = 500
1484 Wi FTC P 500
1485 Weovm it 2 500
1486 Weor X 75 H 2 500
1487 o akif Iz 500
1488 Weorm Fi g 2 500
1489 Wt F5 1855 & 500
1490 Yo F =k P 500
1491 Weor FIAESF 2= 500
1492 Yo FIINS & 500




1493 Weorm FIAEA 2 500
1494 Yo FI SRR & 500
1495 oA EEE =2 500
1496 Weor JICRT 2 500
1497 Bl oA THy 2 500
1498 WooT F7 AL & 500
1499 Wt FIVE & 500
1500 WoTE T2 2 500
1501 Bl i PR R 2 500
1502 Wi T¥ P 500
1503 WA Ji /)it 2 500
1504 Weor T 2 500
1505 Weoie TR P 500
1506 Weorm RS =2 500
1507 I T SN = 500
1508 WA R P 500
1509 Weorm i S 2= 500
1510 Yo EE & 500
1511 WA TR =2 500
1512 Weor 2t 55 2 500
1513 Weois R&H i 500
1514 WeoTia XK & 500
1515 Weot X1 2 500
1516 Yo == & 500
1517 I T mEE = 500
1518 e oA FIeAE & 500
1519 b Wik PSR- 2 500
1520 Weor Y 2 500
1521 W o iR P 500
1522 Weorm 4B =2 500
1523 Wt A & 500
1524 W &5 P 500
1525 Weor & i 2 500
1526 e oA paliks 2 500




1527 Weorm BRIy 2 500
1528 Yo L & 500
1529 oA If) i 1F 2 500
1530 Weor If) ey i 2 500
1531 Weoie lia) B 1 i 500
1532 ot i SAR 2= 500
1533 Yo mEEET v 500
1534 WA W A 2 P 500
1535 Weorm PRIy 2 500
1536 Bl A FRYT 2 500
1537 WA FIBEGE =2 500
1538 I DR X b b5 500
1539 Weoie J P 500
1540 Weorm FIPEGR =2 500
1541 Wt bl P 500
1542 g % IR o 500
1543 Bl i K] 2 500
1544 I A TN P 500
1545 WA 2 [ 2 500
1546 Weor Je gtk 2 500
1547 Weois kAN i 500
1548 Weorm EISi =2 500
1549 Weot WU I 500
1550 Bl o W A p 500
1551 Weor XK A 2 500
1552 Weot M= & 500
1553 YT T3 = 500
1554 Weor G SE¥iN 2 500
1555 Bl o T fee 2 500
1556 WeoTia Bl & 500
1557 I DR ) BH % & 500
1558 Bl o M p 500
1559 e AL 2 500
1560 Hor At P 500




1561 WA PSR 2 500
1562 Yo FRIK ¥ & 500
1563 Weovm EViEN 2 500
1564 Weor Sk I 500
1565 W oA wy = 500
1566 Weorm 5 2 500
1567 Wi F i & 500
1568 YT A & 500
1569 Weorm ERLES 2 500
1570 WeoiE 55t 2 500
1571 k! RN =) = 500
1572 Y oA o ET1 = 500
1573 k! ) = 500
1574 b Ak s B P 500
1575 Yo 58k v 500
1576 DAk o 83 o 500
1577 Yo a4 = 500
1578 I A FIR%E & 500
1579 Wi Tk 2 500
1580 Wl e e 2 500
1581 Weois FIE%E P 500
1582 Weorm A 2 500
1583 I DR B2 & 500
1584 Yl o4 o Nk & 500
1585 YA VA = 500
1586 Yo R T & 500
1587 T i i ok & 500
1588 Weor T RAT 2 500
1589 o k% Iz 500
1590 Weorm 056 2 500
1591 Wt 5 & 500
1592 Y T Jl o 500
1593 Weor J7 RN 2 500
1594 Yo PAlb = 500




1595 Weorm JIKK 2 500
1596 Yo FIOUNE = 500
1597 ik P P 500
1598 ot ATLIk JA 2 500
1599 i P 7 500
1600 ik PR P 500
1601 ot i fot & 500
1602 iy 5 B 500
1603 £ ik 1.3 4 = 500
1604 W E AW v 500
1605 Weorm Mt 2 500
1606 Weor JIE 2 500
1607 i F 7 500
1608 Weorm PR 2 500
1609 I A FiHH = 500
1610 Weors FRME P 500
1611 W TR ZF55F = 500
1612 Yo 2% & 500
1613 Weorm 2= Hg 2 500
1614 Weor 15 4 2 500
1615 Weois ] B 7T P 500
1616 Weorm Tr i 2 500
1617 Weot A & 500
1618 Weorm S A P 500
1619 W DR T3 s 500
1620 I i AR NI & 500
1621 Weovm (iNEZp 2 500
1622 Yo T = 500
1623 o 7R Iz 500
1624 Weorm 35 A 2 500
1625 Yo T2 v 500
1626 Weorm P P 500
1627 Weor J5 I 2= 500
1628 Yo RN & 500




1629 i 7t 7 500
1630 Weot 77 ABH & 500
1631 ik HH 5 P 500
1632 Weor JTICER I 500
1633 Weoie i BEAR Iz 500
1634 Weorm [TRAR S 2 500
1635 Yo HES v 500
1636 YT F0 P 500
1637 Weorm FTIRAL 2= 500
1638 Yo alltll v 500
1639 ik P P 500
1640 7 ik HERE 2 500
1641 i T 7 500
1642 Weorm JICIk 2 500
1643 Wt Fi/NIEE & 500
1644 O ey B 500
1645 o I A 2 500
1646 i Iy YL ) 500
1647 Weorm ERITN 2 500
1648 ek FiNE = 500
1649 B o s T P 500
1650 Weorm JACHE 2 500
1651 Yo 77 RN v 500
1652 W fHK 25 P 500
1653 ek Y2 = 500
1654 I AR P & 500
1655 Weovm B 2 500
1656 Weor JINA 2 500
1657 KT XS F Iz 500
1658 KT iTEeS=1 2 500
1659 KT A RAERR & 500
1660 KT F ik Hg & 500
1661 KT X255 2 500
1662 K T4 HefE2 & 500




1663 KT Mg =22 = 500
1664 KT FREF5 I, P 500
1665 KT S tE e, 2 500
1666 IR THR b = 500
1667 KT HOL Iz 500
1668 KT P I = 500
1669 KT A P e N & 500
1670 KT P P 500
1671 KT FT R 2 500
1672 KT H AL & 500
1673 KT A 2 500
1674 IR THR FNEK = = 500
1675 KT Wk oA P 500
1676 KT Broter 2 500
1677 KT A JAIEZF 2 500
1678 KT T2 & 500
1679 KT PHE 2 500
1680 KT AR P 500
1681 KT TH 2 500
1682 KT R P 500
1683 KT it PRAR & 500
1684 KT k= 2 500
1685 JK T A1 Mg = 500
1686 KT R P 500
1687 KT 415 ) 2 500
1688 K THA XI5 P 500
1689 KT FeE 2 500
1690 KT LN 2 500
1691 KT 5 V5 V5 Iz 500
1692 R BRE 2 500
1693 ] % RNTE = 500
1694 R ¥ A P 500
1695 WA 2 3% = 500
1696 HHZ MSHE P 500




1697 HH 2 XL R P 500
1698 HH Z HK Sy & 500
1699 A 2 XA P 500
1700 HH 2 PUR RIS P 500
1701 HH 2 PURET & 500
1702 R Wi e W =2 500
1703 EF 2 JE K & 500
1704 WA 2 ) Wt & 500
1705 HH 2 I £ 10 P 500
1706 HHZ Ji A X & 500
1707 A 2 RN P 500
1708 EF S RN = 500
1709 HH 2 e s 500
1710 HH 2 ARV P 500
1711 FEH 2 IADGY N = 500
1712 WA 2 Bk & 500
1713 HH 2 HNAY P 500
1714 HHZ BBt K & 500
1715 WH Z T =2 500
1716 i Ji da i & 500
1717 HH 2 R & 500
1718 B 1 AR P 500
1719 BT LIPS & 500
1720 B Kiete & 500
1721 B L P 500
1722 Wl R s 500
1723 gk ZEVTAR I 500
1724 B Bt & 500
1725 e LIRS & 500
1726 B LAl P 500
1727 Wil ER 5 & 500
1728 B HE I & 500
1729 B SR AL P 500
1730 Bk ikt Ll g = 500




1731 B iz 500
1732 Bl & 500
1733 B R i 500
1734 P P 500
1735 Bt i 500
1736 Pl & 500
1737 BT = 500
1738 Bl i 500
1739 B iz 500
1740 Bl & 500
1741 B AR i 500
1742 Pl P 500
1743 Bt i 500
1744 Pl & 500
1745 BT = 500
1746 Bt i 500
1747 B iz 500
1748 Bl & 500
1749 gk i 500
1750 P 2 500
1751 Bl i 500
1752 Bl & 500
1753 BT = 500
1754 Bt i 500
1755 B iz 500
1756 Bl & 500
1757 gk i 500
1758 Pl 2 500
1759 Bl i 500
1760 Bl & 500
1761 B & 500
1762 Bt i 500
1763 B iz 500
1764 Bl & 500




1765 B AL 2 500
1766 B Tt 75 2 500
1767 BB %W & =2 500
1768 TR =18 bR 2 500
1769 T A7 o i 500
1770 T 71 F =2 500
1771 T 18 T % v 500
1772 T = fiE L9, 23 P 500
1773 T i BRI 2 = 500
1774 Tl 2 A 1 Wk 1E 25 2 500
1775 T4 tH1r2 s 500
1776 = friE X 7R 2 500
177 T = fiE 7 IETT & 500
1778 T = 718 P =2 500
1779 = friE B4 = 500
1780 T = #7118 £ B’ pos 500
1781 TR = A 1E AR 2 500
1782 T = &5 i 500
1783 T~ 718 F5 B2 = 500
1784 T =i fEIER = 500
1785 T = fiE A& IESC & 500
1786 T = 71 W€ 45 =2 500
1787 T 18 7M1= v 500
1788 T2 71 R P 500
1789 Tl 2 A 18 XIJAL 2 500
1790 T =i JA6F & 500
1791 T~ 718 BHE = 500
1792 T =i ZAL S = 500
1793 Tl = 1 A S i 500
1794 T = 71 K alis =2 500
1795 T #18 W 5 v 500
1796 T = fiE eSS P 500
1797 T i WRiE % = 500
1798 Tl 2 A 1 i 2 500




1799 Tl 2 A 18 A5 Hy 2 500
1800 T =i TR & 500
1801 Tl 2 18 A5 Wl 2 500
1802 Tl 2 A 18 A I 500
1803 Tl 2= 1 EEREVN Iz 500
1804 Tl 2 18 B X 2 500
1805 T 1 e I 500
1806 T2 1 XA P 500
1807 T i X = 500
1808 T2 18 XA 2 500
1809 T =418 Yyt s & 500
1810 T i BLH = 500
1811 Tl 2= i TR S8 BE P 500
1812 T fiE b it & 500
1813 TR 18 L & 500
1814 T2 18 PE P 500
1815 Tz f I = 500
1816 Tl 2 A 1 K% Iz 500
1817 Tl 2 f 1 2 HE 2 500
1818 Tl 2 A 18 Wt 2% 2 500
1819 Tl 2= 1 I P 500
1820 Tl 2 1 LALEVIN 2 500
1821 T 1 o I P 500
1822 T = fiE AR P 500
1823 W A I 2 500
1824 W M HH i & 500
1825 7 A Mg 2 500
1826 W RS 2 500
1827 7 A ¥l Iz 500
1828 7 A L AT B 500
1829 T W A R (i = 500
1830 WA % P 500
1831 WA TG 3 2 500
1832 W T 5 P 500




1833 W A £ fHERE 5 = 500
1834 W #r TR P 500
1835 7 A P % 2 500
1836 WA R 7K 4 = 500
1837 W iy o e 500
1838 W M 8 = 500
1839 W XKy Ry P 500
1840 W M THE P 500
1841 W7 A BN 2 500
1842 W M HE FHg 2 500
1843 7 A Fk kR 2 500
1844 i 1% T4 2 500
1845 i 1 B /N ab P 500
1846 <l 1% TR 2 500
1847 BEET S & 500
1848 i ) B BN i 500
1849 IR ECNTS & 500
1850 EIREESN i [E] 1 & 500
1851 ESEE At s 500
1852 i 15 A X 2 500
1853 < ke P 500
1854 B 1 25 = 500
1855 =) 1 A AN I & 500
1856 B 12 4 W4 o 500
1857 =i 5 #H XS H gt = 500
1858 < 1 4 AT & 500
1859 IR WA I 500
1860 < ISy 2 500
1861 ST AR & 500
1862 B 1 Wi A = 500
1863 IR Mo il I 500
1864 S JE Uk o 500
1865 < % 4 TH = 500
1866 EIREESN L7k P 500




1867 EEEL I = 500
1868 B 13 41 i) B4 & 500
1869 FIE A EF = 500
1870 Ik = 500
1871 B EE 2 500
1872 oGt & 500
1873 G & 500
1874 Liv) et P 500
1875 B R 2L 2 500
1876 fEIESF & 500
1877 Wit o i 500
1878 JE UMY/ I 500
1879 BRI p 500
1880 AR & 500
1881 IR RAM & 500
1882 i ey o 2 500
1883 M2A= 2 500
1884 X 5 & 500
1885 Froede = 500
1886 X/ P 500
1887 T 2 500
1888 iy 2 500
1889 T & 5 = 500
1890 i £ 500
1891 R = 500
1892 NIl R & 500
1893 N = 500
1894 = 3. I 500
1895 Zs NG = 500
1896 Mk AL = 500
1897 Tik% & 500
1898 {4 o 500
1899 (=T = 500
1900 liy=v| & 500




1901 KR ek 2 500
1902 KREpE I & 500
1903 KR LA 2 500
1904 KEMIE BT 2 500
1905 KR KAk Iz 500
1906 KR YR 2 500
1907 REME TN pis 500
1908 KRMTIHE B SRR i 500
1909 KR IR 7/EES 2 500
1910 KREMpE 7k v 500
1911 KRPriE 2% R s 500
1912 KREME 2% = 500
1913 KR FH i P 500
1914 KR X4 1k & 500
1915 KREIE LEA p 500
1916 KRMTIHE BN P 500
1917 KREE FRICA = 500
1918 KERBIE p A = 500
1919 KRMIHE V&S 2 500
1920 KR Rk 2 500
1921 KRETIHE TR P 500
1922 PR B =2 500
1923 TEIT 5 R & 500
1924 T - S E P 500
1925 PRI BEUK = 500
1926 PSR! A5 M & 500
1927 TETT A S 2 500
1928 PRI X K = 500
1929 PRI L AR & 500
1930 LT & & 500
1931 TV JRITHE 2 500
1932 TEIT PSS P 500
1933 TEIT JIAR A 2 500
1934 PRI ok = 500




1935 TEIT 5 RESER iz 500
1936 TET 4 FER & 500
1937 PERAK::! P& & 500
1938 TEITAT /N I 500
1939 TEIT 4 WE A Iz 500
1940 PERAK ! PRI F & 500
1941 IRAR: FEK & 500
1942 TEIT 4 2=l & 500
1943 VTR LI HAE S = 500
1944 PIRAK ! it 73 = 500
1945 PERAK::! i A T & 500
1946 TEIT A & 500
1947 TEIT 4 [GE &5+ P 500
1948 PERAK ! IS - & 500
1949 IRAR:! AW e & 500
1950 TEIT 4 2= H & 500
1951 PIRAR: S0 R 2 500
1952 IRAR: 7} B A & 500
1953 PIRARG:! fTHE 2 500
1954 PRI T E 2 500
1955 TEIT 4 A5 B P 500
1956 PERAK ! N & 500
1957 TEIT 5 T H#A & 500
1958 PIRAR:! {4 P 500
1959 PRI At 2 500
1960 PIRAK ! By = 500
1961 PIRIK: ! Tk =2 500
1962 IRAR:! ¥ Kk 2 500
1963 TEIT 4 W AUk Iz 500
1964 PIRAR:! AE TF e R 500
1965 TV HE L & 500
1966 TEIT 4 fi fz P 500
1967 TEIT 5 RE 2 500
1968 ViR D e & 500




1969 PIRAR ! AE L6 s 500
1970 PIRAK ! PR = 500
1971 PIRARG:! Wi/ 2] =2 500
1972 TEIT 5 fe/NT] 2 500
1973 TeVTA M ik i 500
1974 PERAK ! DT & 500
1975 IR 215 2 500
1976 iR 5 P 500
1977 PRI F7 2L 2 500
1978 TeT 4 23] & 500
1979 PIRARG:! A =2 500
1980 TEIT Ja = 500
1981 TeVTA Jil 4w P 500
1982 PERAK ! 54 =2 500
1983 IRAR:! BN ] 2 500
1984 TeVTAH A P 500
1985 TEIT 4 [} SR 2 500
1986 PIRAK ! SELl = 500
1987 PIRIK: ! AR =2 500
1988 TEIT A THE 2 500
1989 TeVTA T i 500
1990 PERAK ! By am & 500
1991 PIRIK ! ARk v 500
1992 PERIKE P P 500
1993 VLA T = 500
1994 PIRAK ! L7 = 500
1995 IR Tt 2% 2 500
1996 eI WS j 5 500
1997 TeVTA M2 ik i 500
1998 PERAK ! ¥t & 500
1999 TV YN & 500
2000 TeVTAH Wit P 500
2001 VTR R = 500
2002 PIRAK ! “xs & 500




2003 TEiT BB 2 500
2004 TET 4 FH 4 e P 500
2005 TEIT R e 2 500
2006 IRAR:! WA % I 500
2007 TEIT 4 bl Iz 500
2008 PERAK ! AL = 500
2009 T8 ohf I & 500
2010 TeVTAH Mt 2 500
2011 IRAR:! K w54 2 500
2012 FIRIK ! FHE v 500
2013 PERAK::! LN & 500
2014 VL EED/ = 500
2015 TEIT 4 B/t P 500
2016 PERAK ! R R =2 500
2017 TV igia 2 500
2018 PERIKE AL A pos 500
2019 IRAR:! BB 2 500
2020 IRAR: MG E Iz 500
2021 TEIT K HEF 2 500
2022 TEITAT Bk = 500
2023 TEIT 4 LM P 500
2024 TETT A Tkl iz 500
2025 TEIT 5 N & 500
2026 PIRAR:! AL e P 500
2027 PRI X1 N 5 2 500
2028 PRI 2= & 500
2029 PIRIK: ! B 2 500
2030 IRAR:! R 2 500
2031 TEIT 4 3= & 500
2032 PERAK ! Yk & 500
2033 TET 4 Fietr 2 500
2034 iR B & 500
2035 VTR X i = 500
2036 PRI X INEL = 500




2037 PRI ARk iz 500
2038 PIRAK ! R & 500
2039 TEIT 4 /D IEl 2 500
2040 PRI FXF 2 500
2041 TEIT 4 SRS & 500
2042 TEIT 4 MR 2 500
2043 TV TR 2 500
2044 TEIT 4 1 i P 500
2045 IRAR:! RN s 500
2046 PIRAK ! ZEE v 500
2047 TEIT 4 fE T 2% 2 500
2048 PIRIK ! F2X% = 500
2049 PRI IR & 500
2050 PERAK ! SRAENI & 500
2051 TV AR 2 500
2052 PERIKE T it pos 500
2053 PIRAK:N F=u A & 500
2054 PIRAK ! Ee = 500
2055 TEIT 4 F i 2 500
2056 PRI T 2 500
2057 TEIT 4 Wk B 4 P 500
2058 PERAK ! g =2 500
2059 IR Wt A 2 500
2060 PIRAR:! MRt 5 P 500
2061 PRI A5 5 iz 500
2062 PIRAK ! RET & 500
2063 TEIT (DEER =2 500
2064 VIR il 414K = 500
2065 TEIT 4 RF & 500
2066 PERAK ! JAAR = & 500
2067 TV JES N = 500
2068 PIRAR:! 4 P 500
2069 IRAR:! HHER 55 2 500
2070 IRAR: EESES & 500




2071 VTR gk AR = 500
2072 TET 4 AR LT HE & 500
2073 PIRARG:! Al it f 2 500
2074 TEITAT A 2 500
2075 TEIT 4 AR i 500
2076 PERAK ! Elpiit & 500
2077 TV TR & 500
2078 IR e P 500
2079 PRI FHFL 2 500
2080 IRAR: T & 500
2081 PERAK::! L7k & & 500
2082 FIRAR F [ = 500
2083 TeVTA il 42 5% P 500
2084 PERAK ! T g S & 500
2085 TV FANGF & 500
2086 PIRAR:! DRI P 500
2087 VTR THEZE & 500
2088 TV R PR & 500
2089 PERAK::! PEE & 500
2090 FIRAR FIB = 500
2091 TEIT 4 FKAL i 500
2092 PERAK ! e =2 500
2093 IR JAl ot 2 500
2094 PERAK: ! ZEH P 500
2095 PIRAK:N FE= = 500
2096 IRAR: Wk TR & 500
2097 PIRARG:! FRAIE 2 500
2098 IR EE 2 500
2099 TeVTA L i 500
2100 PIRIK: ! AL A 2 500
2101 IR E 2 500
2102 IR /g P 500
2103 VTR #26BH = 500
2104 PIRAK ! VI & 500




2105 Tyl EM = 500
2106 VLA VT = 500
2107 TEIT 4 Wi 1% 2 500
2108 IR Wi % I 500
2109 TEIT 4 kA5 Iz 500
2110 PERAK ! Pkes & 500
2111 IR FIEF & 500
2112 IRAK SN P 500
2113 TEIT 5 ES 2 500
2114 PRI ME - = 500
2115 TEIT 4 ElIg 2 500
2116 PRI 4> = 500
2117 TEIT 4 gD P 500
2118 PERAK ! BB A & 500
2119 PIRAK::| WEA & 500
2120 PERIKE A& pos 500
2121 PIRAK:N FRUTHE & 500
2122 VLA ZIES = 500
2123 PERAK::! TEZ & 500
2124 TETT 5 Ak 2 500
2125 TEIT 4 FRA P 500
2126 PERAK ! IR & 500
2127 TEIT 5 RES = 500
2128 TEIT 4 INE=pun P 500
2129 PRI fii Bk 2% 2 500
2130 PRI TifF = 500
2131 TEIT 4 LAY 2 500
2132 PRI ¥ B ik 2 500
2133 TEIT 4 AL Iz 500
2134 TEIT 4 Tt 2 500
2135 IR P 2 500
2136 IRAK ! Ll P 500
2137 IRAR:! Friot vtk 2 500
2138 IRAR: LR 2 500




2139 eI &S] = 500
2140 VLA L = 500
2141 PERAK::! XI5 & 500
2142 TEIT 4 X I 500
2143 TEIT 4 Jui Iz 500
2144 PERAK ! RPN =2 500
2145 TV AW = 500
2146 TEIT 4 FIER P 500
2147 VTR il = 500
2148 PRI ik S [ = 500
2149 TEIT 4 FH 2 500
2150 TEIT AE 2 500
2151 TEIT 4 A A P 500
2152 PERAK ! W il 5 & 500
2153 IR PR 2 500
2154 TEIT 4 B RS P 500
2155 PIRAK:N T4 & 500
2156 VLA Fk = 500
2157 TEIT 4 LpN ] 2 500
2158 PRI B4 2 500
2159 TEIT 4 AL P 500
2160 TEIT 4 WL A 2 500
2161 PIRIK ! ity v 500
2162 PERIKE T4 P 500
2163 VTR B = 500
2164 PIRAK ! D5 = 500
2165 TEIT 4 Wit 2 500
2166 IRAR:! WA B 2 500
2167 TEIT 4 LI P Iz 500
2168 PERAK ! T =2 500
2169 TEIT 5 ot I 500
2170 FIRIK ! Bk P 500
2171 VTR 1T # = 500
2172 IRAR: M T & 500




2173 VTR KL i = 500
2174 PIRAK ! HVEVT & 500
2175 TEIT 4 FH i A2 2 500
2176 TEiT 4 P I 500
2177 TEIT 4 PIEAT Iz 500
2178 PERAK ! LD & 500
2179 TV PN 2 500
2180 PIRAR:! I P 500
2181 PRI {15 75 iz 500
2182 IRAR: Bk Iz 500
2183 eI 41 Brh— = 500
2184 yiRAK:! E5y)2 & 500
2185 TEIT 4 RS P 500
2186 PERAK ! FN =2 500
2187 TEIT 5 (ERY 2 500
2188 TEIT A RN & 500
2189 VTR P & 500
2190 PIRAK ! BT Fig & 500
2191 PERAK::! BAETHE s 500
2192 TV R AR Al = 500
2193 TEIT 4 BB e i 500
2194 PERAK ! B & 500
2195 TEIT 5 AT & 500
2196 PERAK: ! T P 500
2197 PIRAK:N LFSNTE = 500
2198 IRAR: XIJ T8 5L P 500
2199 PERAK::! BRIk & 500
2200 IRAR:! W 2 500
2201 TEIT 4 1 Iz 500
2202 PERAK ! 475 & 500
2203 IR X5t R 2 500
2204 TeVTAH AR 2 2 500
2205 eI 4A T iy = 500
2206 IRAR: i JA 3 & 500




2207 TEIT 5 AE AR5 2 500
2208 TET 4 T By & 500
2209 PERAK::! B I3 & 500
2210 PIRAR B I 500
2211 TEIT 4 I 5 & 500
2212 TEIT 4 XA I 2 500
2213 TEIT 5 N 5 2 500
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5835 Tl 2 A 18 LIS 2 500
5836 T2 A 18 LR P 500
5837 T 71 YT =2 500
5838 T =i R = 500
5839 T 7 B P 500
5840 T fiE v B & 500
5841 T #18 x| & Ft & 500
5842 T = fiE ¥ X = 2 500
5843 Tl 2 A 18 W pl g 2 500
5844 Tl 2 A 1 Jilft:3C 2 500




5845 T =1 S PE% P 500
5846 T =i e & 500
5847 T 18 S s 500
5848 W M 4 M 6% = 500
5849 W7 e sid & 500
5850 WA ER Wk 2 500
5851 WA R LD & 500
5852 7 A S M P 500
5853 WA ER Qb7 P 500
5854 W M HE T& v 500
5855 WA ER 1 R B 2 500
5856 WA i P 500
5857 7 A B NGF & 500
5858 WA ER AT YIS 2 500
5859 WA VR 4 1 & 500
5860 WA EH o6 & 500
5861 WA ER R iz 500
5862 WA T v 500
5863 WA ER 2K 2 500
5864 WA A P 500
5865 7 A FIRE & 500
5866 WA ER (XN S 2 500
5867 WA AR T4k p 500
5868 7 A R P 500
5869 W7 A F ok P 500
5870 Doir A7 4 Sy P 500
5871 WA ER FA 2 500
5872 WA PR P 500
5873 W7 M iy & 500
5874 W7 eI P 500
5875 W M Sy v 500
5876 W 7 FIIR & 500
5877 W A £ 555 = 500
5878 WA AR 18 7% s 500




5879 W A £ JIR = 500
5880 W #r EES & 500
5881 WA S P 500
5882 W A 9% JE R 2 500
5883 7 A K i %52 & 500
5884 W Zei 2 500
5885 WA AR Tk v 500
5886 WA If] B & 500
5887 WA ER ZEE] P 500
5888 WA KAe & 500
5889 W K2 P 500
5890 W POLTT & 500
5891 7 A W & 500
5892 W LN P 500
5893 WA R FINEE & 500
5894 W7 A Z 5k 2 500
5895 W =N P 500
5896 W BN & 500
5897 WA R B P 500
5898 W IRILAT P 500
5899 WA 7R3 & 500
5900 W (3] P 500
5901 WA R CEVES & 500
5902 WA 2155 & 500
5903 W A £ 2R = 500
5904 W7 M A e 500
5905 WA o5 P 500
5906 W KBt & 500
5907 WA A5 & 500
5908 W ZAh P 500
5909 Skt Hyrp = 500
5910 WA HH K & 500
5911 W UZREE S & 500
5912 W7 M 4 & 500




5913 W7 A 3K P 500
5914 W M A e & 500
5915 WA B oA 2 500
5916 WA KA P 500
5917 W7 M Huet & 500
5918 S TRrieE “E = 500
5919 T W A k75 = 500
5920 7 A TN P 500
5921 WA ER L IVER iz 500
5922 W JTR Iz 500
5923 WA ER W P 500
5924 WA ED P 500
5925 T A R E2d0n = 500
5926 WA ER KA 2 500
5927 W M BIVES & 500
5928 SEE W%t & 500
5929 <] 5 4 LN P 500
5930 < 1 £H PR & 500
5931 B 12 LA =2 500
5932 BET Bl 1 T P 500
5933 R P T & 500
5934 ST TR 2 500
5935 BEET TS % & 500
5936 B 1% FH A=A 2 500
5937 <] 5 4 L P 500
5938 < 5 4 G2 & 500
5939 S ik 2 500
5940 < 1 FR i 2= 500
5941 S Fr e & 500
5942 ST GRCEL 2 500
5943 i % FH Wi 22 25 2 500
5944 I 12 4 B 2 500
5945 < % 4 B = 500
5946 < 5 4 X506 & 500




5947 < % 4 R T = 500
5948 < 5 B iE pis 500
5949 B 2 £ b SN = 500
5950 JE£E B P 500
5951 MR FE = 500
5952 E T & 500
5953 FAg (BN = 500
5954 WAL 2 500
5955 25 B 2 500
5956 (e 2 500
5957 W75 i 500
5958 TR AT = 500
5959 BRI 2 500
5960 153 2 500
5961 /'8 = 500
5962 [ W 4 o 500
5963 e 2 500
5964 ST P 500
5965 B 2 H i 500
5966 W 4 P 500
5967 B RAT 2 500
5968 SBTTEAS 2 500
5969 FEG & 500
5970 FHIF p 500
5971 Tt = 500
5972 RFEnic P 500
5973 Pkt =2 500
5974 F5 4k Py 500
5975 {1 BAAL = 500
5976 F = 500
5977 ZElhete = 500
5978 IS o 500
5979 25 M2 = 500
5980 ] hisyiz! = 500




5981 EETN e [ 2 500
5982 FIREXT 2P = 500
5983 FRENE By & 500
5984 B 1E XK 2= 500
5985 ] [, d = 500
5986 [ 2 500
5987 X = ik & 500
5988 JoR p 500
5989 W5 W% 2 500
5990 BT = 500
5991 [ & 3 = 500
5992 25 37 BE P 500
5993 fa] 2 2 500
5994 i % 2 500
5995 AR R X, = 500
5996 X i 4= & 500
5997 B E A 2 500
5998 SE=ES = 500
5999 2 I [ i 500
6000 4rifaza I 500
6001 Xl 4= 4= = 500
6002 PUES" = 500
6003 2 = 500
6004 X103 73 P 500
6005 X 44 = 500
6006 BT & 500
6007 R i 500
6008 AP & = 500
6009 ¥ E AL 2 500
6010 XN EZ P 500
6011 IV 5 b = 500
6012 Zs HUR p 500
6013 ok N K = 500
6014 5 2R P 500




6015 EETN 2Nl 2 500
6016 < 5 B TR & 500
6017 (<l FH MRAEAS =2 500
6018 [ORC3E I 500
6019 T4 1 2 500
6020 W2 2= 500
6021 AN} 2 500
6022 A N=s & 500
6023 RE 2 500
6024 R v 500
6025 SN2 2 500
6026 EEC- ) = 500
6027 B 2 500
6028 EEW 2 500
6029 Vi N v 500
6030 BER 2 500
6031 SN 2 500
6032 [ 7RANE) i 500
6033 REN ] & 500
6034 B IEXK = 500
6035 T4 & 500
6036 s fifi g = 500
6037 HNA 2 500
6038 T P 500
6039 Wi 4 0k 2 500
6040 HIHE = 500
6041 i W )% i 500
6042 % 4 A Py 500
6043 AR TG 2 500
6044 fHATA & 500
6045 T i 3% & 500
6046 {H I A P 500
6047 T BA = 500
6048 E H I & 500




6049 EEEL A1 H 4 = 500
6050 < 5 B i) P 500
6051 (<l FH F5/NEL 2 500
6052 BATT 2 500
6053 WA 7 500
6054 FI S = 500
6055 MR Bk 2 500
6056 BRT5 B 500
6057 I = 500
6058 P P 500
6059 AL = 500
6060 BAE 2 500
6061 117 BH B 7 500
6062 1% R4E P 500
6063 BT & 500
6064 5 1847 B 500
6065 E$ 7 500
6066 MR i 500
6067 AL i = 500
6068 A1 A1 Fif j 5 500
6069 LR & 500
6070 BE = 500
6071 TR v 500
6072 FAEH P 500
6073 FHEH = 500
6074 TR & 500
6075 P yid & 500
6076 b 7 500
6077 5 ML = 500
6078 LB = 500
6079 WAL = 500
6080 i 2 B 500
6081 B4 R 7 500
6082 T P 500
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6151 KEMIE A1 M 2 500
6152 KREpE T4 & 500
6153 KR Wk 2 500
6154 KEMIE I SE I 500
6155 KR S ES Iz 500
6156 PERAK ! A B & 500
6157 TV K75 9 = 500
6158 PIRAR:! BN P 500
6159 VTR BENER = 500
6160 PIRAR ! FERANP/S Iz 500
6161 AR B & 500
6162 eV R ZRAENE = 500
6163 TEIT 4 BET P 500
6164 PERAK ! ZERAR & 500
6165 PIRIK ! T4 v 500
6166 PERIKE {E pos 500
6167 VTR et & 500
6168 PIRAK ! HEE = 500
6169 PERAK::! (RS & 500
6170 PIRAR ! ELE 2 500
6171 PRI 4R Ag & 500
6172 PERAK ! T2 =2 500
6173 TeT 4 BV = 500
6174 TEIT A J & 500
6175 TEiT 4 2T 2 500
6176 IRAR: D P 500
6177 PERAK::! RIKE & 500
6178 TEiT 4 b4 2 500
6179 PRI VNS & 500
6180 TEIT 4 fi1E. 70 2 500
6181 TV & = 500
6182 PIRAR:! PO P 500
6183 TEiT 4 M4t 2 500
6184 PIRAK ! TRIR & 500




6185 TEiT M4 2 500
6186 PIRAK ! VAT & 500
6187 PERAK::! 2 E = & 500
6188 PRI HEPS 2 500
6189 TeVTA #rb i 500
6190 PERAK ! TNk & 500
6191 PIRIK ! 1T & v 500
6192 PERAK: ! Pt P 500
6193 VTR PR 2 500
6194 TV B2z AL, & 500
6195 PIRARG:! WA He 2 500
6196 TEIT 4 WISy = 500
6197 TeVTA BN P 500
6198 PERAK ! ZEE AT & 500
6199 TEiT 4 A i 4 & 500
6200 PERAK: ! 4538 pos 500
6201 VTR FRpk S & 500
6202 TeVT 4 PAIRE et & 500
6203 PIRARG:! BHLE 2 500
6204 TV R NN = 500
6205 TEIT 4 P& i 500
6206 PERAK ! TR & 500
6207 TEIT 5 F o = 500
6208 iR JESRIL P 500
6209 VTR L NE 2 500
6210 TeVT 4 gepih i & 500
6211 PIRIK: ! [ RVAPS 2 500
6212 TEiT 4 Wk IE % 2 500
6213 TeVTA JEp/EiS Iz 500
6214 PERAK ! R =2 500
6215 TV &g & 500
6216 PERIKE 2N P 500
6217 VLA B2 7= 500
6218 TeVT 4 N & 500




6219 PIAAR:! FJE 2 500
6220 TET 4 T A P 500
6221 PERAK::! Wi & 500
6222 IRAR:! PN iz 500
6223 TeVTA =N i 500
6224 PERAK ! JE g & 500
6225 PIRIK ! K E v 500
6226 PERAK: ! o = P 500
6227 TEIT T = 500
6228 IRAR: Cigia & 500
6229 TEIT 4 AW =2 500
6230 TET AT Bk 2 500
6231 TeVTA TiE] Bk 4 P 500
6232 PERAK ! FIHE S & 500
6233 yIRAR N 2 = 500
6234 ViR AR pos 500
6235 PRI 4 5 2 500
6236 IRAR: s | Iz 500
6237 TEIT 4 RER 2 500
6238 TV R TRAEEE = 500
6239 TeVTA K 2 Hg i 500
6240 PERAK ! kAR = 500
6241 IR RXIARK 2 500
6242 iR Jil JA AL P 500
6243 VLA JE = 500
6244 PIRAK ! 2 S = 500
6245 PIRIK: ! AN 2 500
6246 TEiT 4 WRR I 2 500
6247 TeVTA R Iz 500
6248 PERAK ! B =2 500
6249 IRAR: TER 2 500
6250 IR FIESY P 500
6251 PIRAR WK 2 500
6252 IRAR: IS 1 ¥ P 500




6253 IRAR:! WK 2 500
6254 VLA ¥iE 5 = 500
6255 TEIT (PR - 2 500
6256 VL FEeT j 5 500
6257 PERIKE EES [ & 500
6258 PERAK ! LISEEE] & 500
6259 TEIT 5 6] 2 500
6260 TETT A JESE % P 500
6261 TEIT 4 e 7 500
6262 PRI X v v 500
6263 PERAK::! RS & 500
6264 TEIT A ZIEMS 2 500
6265 TEIT 4 W4t b P 500
6266 LT ] =2 500
6267 IRAR:! kI & 500
6268 PERAK: ! Bz pos 500
6269 PIRAK:N T & 500
6270 PIRAK ! P = 500
6271 PERAK::! Ay s & 500
6272 TEIT 4 XAk 2 500
6273 TEIT 4 XA P 500
6274 PR Al 4t & 500
6275 PIRIK ! AT = 500
6276 PIRAR:! flete P 500
6277 PRI RETT 77 iz 500
6278 IRAR: T8 ek & 500
6279 PERAK::! Y & 500
6280 TEIT A 265 2 500
6281 TEIT 4 LINDES Iz 500
6282 PERAK ! gk & 500
6283 PIRIK ! REIE T = 500
6284 PERIKE ALY P 500
6285 VLA B2 = 500
6286 PIRAR! WA IS 11 2 500




6287 IRAR:! A 2 500
6288 PIRAK ! P ey = 500
6289 PERAK::! A Ness & 500
6290 TEIT 5 BT 2 500
6291 TEIT 4 P & 500
6292 VLA TR AE s 500
6293 TV TEK &% 2 500
6294 iR Bk P 500
6295 VTR B = 500
6296 IRAR: LIRERES & 500
6297 PIRARG:! KL 2 500
6298 TET AT HOLR 2 500
6299 TEIT 4 A & 500
6300 PERAK ! ZEVEHR & 500
6301 yIRAR N Ji 5 = 500
6302 PERIKE P pos 500
6303 TEiT 4 wE 2 500
6304 PIRAK ! RPN = 500
6305 PERAK::! [SRE & 500
6306 TEITAT P W) e iz 500
6307 TeVTA VES:N i 500
6308 PERAK ! 5 ¥ =2 500
6309 PIRIK ! G v 500
6310 PERIKE ] P 500
6311 PRI T Z Mg 2 500
6312 PIRAK ! i % = 500
6313 PERAK::! 4R & 500
6314 PIRIK ! AT = 500
6315 TeVTA FILF Iz 500
6316 PERAK ! T & 500
6317 TV 2 E ek = 500
6318 PERIKE EECIE P 500
6319 eI &% = 500
6320 PIRAR! F R & 500




6321 IRAR:! JAW A 2 500
6322 TEIT fif /N Bk 2 500
6323 PERAK::! RE & 500
6324 PIRIK:! T 48 = 500
6325 TEIT 4 JE A i 500
6326 PERAK ! B AL 2 = 500
6327 PIRIK ! e v 500
6328 PERAK: ! MR IE P 500
6329 PRI 5 AF 2 500
6330 ViR JH B = 500
6331 PERAK::! JE T & 500
6332 TEIT B8R Wt 5% 2 500
6333 TEIT 4 DI P 500
6334 TEIT 4 W 5 2 500
6335 PIRIK ! IR R v 500
6336 PERAK: ! TR & 500
6337 PIAAR:! TRGL 2 500
6338 PIRAK ! G137 = 500
6339 PIRARG:! AR 2 500
6340 PIRIK ! Tl = 500
6341 TEIT 4 B E K P 500
6342 PERAK ! kNG & 500
6343 PIRIK ! LIRS = 500
6344 iR ES P 500
6345 VLA Nl = 500
6346 IRAR: ST P 500
6347 PERAK::! EA | & 500
6348 VIR & = 500
6349 TEIT 4 EIEk Iz 500
6350 PERAK ! WK Bt =2 500
6351 TV FH i NI & 500
6352 PIRAR:! VAL P 500
6353 IRAR:! v 2 500
6354 IRAR: MK & 500




6355 VTR WK 4 = 500
6356 TET 4 F2HL P 500
6357 PERAK::! KIEHE & 500
6358 PIRIK:! ENES = 500
6359 TEIT 4 i Iz 500
6360 PERAK ! B % & 500
6361 yiRAR N ZEIEV = 500
6362 TEIT 4 PR P 500
6363 VTR PUKIE = 500
6364 PIRAK ! FIS A v 500
6365 PERAK::! B & 500
6366 TEIT A NiWi 2 500
6367 TEIT 4 P2k & 500
6368 PERAK ! Ir] AT & 500
6369 VIRIR ! N = 500
6370 TEIT 4 PN & 500
6371 eI i & 500
6372 PIRAK ! ENili = 500
6373 PIRARG:! A 2 500
6374 TEiT 4 TP = 500
6375 TEIT 4 ik P 500
6376 PERAK ! Fite & 500
6377 IRAR:! TR H] I 500
6378 PERIKE EEVEl P 500
6379 PRI YRVESS iz 500
6380 TR R P 500
6381 PIRARG:! R 2 500
6382 PIRIK ! TE = 500
6383 PERAK ! YN i 500
6384 PERAK ! TR AR & 500
6385 PIRIK ! AR = 500
6386 TEIT 4 DS & 500
6387 eI H A = 500
6388 PIRAK ! /N = 500




6389 VTR ¥ 7% = 500
6390 PIRAK ! TR & 500
6391 TEIT 4 AE 2N Ik 2 500
6392 PIRIK:! M = 500
6393 PERIKE T & 500
6394 PERAK ! T2 AL & 500
6395 PIRIK ! NN v 500
6396 TEIT 4 BRAT AR P 500
6397 PRI MRot K iz 500
6398 IRAR: T & 500
6399 eI 41 B 1Y A1 & 500
6400 PIRAR LI 2 500
6401 PIRAK ! e & 500
6402 PERAK ! iyt & 500
6403 IRAR:! A= FHM P 500
6404 PIRAR:! AT P 500
6405 PRI A 2 500
6406 IRAR: 0 A & 500
6407 TEIT 4 FEK & 500
6408 TEiT 4 8= 2 500
6409 TEIT 4 {6 E P 500
6410 TEIT 4 INBER S iz 500
6411 PIRIK ! LY = 500
6412 IR B ot P 500
6413 TEiT 4 IES 2 500
6414 IRAR: BN i & 500
6415 PERAK::! REE & 500
6416 VL PR = 500
6417 TEIT 4 5 Iz 500
6418 VLA F&H s 500
6419 PIRIK ! FRIESE v 500
6420 PIRAR:! LG P 500
6421 VTR BRE 2 500
6422 IRAR: B ita & 500




6423 IRAR:! RE 2 500
6424 TEIT AR e P 500
6425 TEIT 4 oS 2 500
6426 TV R AR 2 500
6427 TEIT 4 P Iz 500
6428 PERAK ! e =2 500
6429 VL R v 500
6430 PIRAR:! B P 500
6431 PIRAR A5 1A 2 500
6432 IRAR: 2 H & 500
6433 PIRARG:! &K 2 500
6434 eV R Valibs = 500
6435 TEIT 4 i & 500
6436 TEIT 4 LRIERIN 2 500
6437 PRI HH 2 5 = 500
6438 PERIKE ¥ pos 500
6439 PIRAK:N TR & 500
6440 PIRAK ! = 2% & 500
6441 TEIT 4 PR 2 500
6442 VL ¥ T gk = 500
6443 TEIT 4 I RETTT] P 500
6444 PERAK ! IR =2 500
6445 PIRIK ! PRI = 500
6446 PERAK: ! X7 H P 500
6447 VTR F = 500
6448 IRAR: JE e H 2 500
6449 PIRIK: ! RV =2 500
6450 IRAR:! B NTi 2 500
6451 TEIT 4 Wi'E 2 Iz 500
6452 TEIT 4 AL Fil 2 500
6453 TV Y[ 4 & 500
6454 PIRAR:! LI SERIT P 500
6455 IRAR:! K 2 500
6456 IR LI & 500




6457 PRI HAE 2 500
6458 TET 4 WERE & 500
6459 PIRARG:! K 2 500
6460 TV R i e = 500
6461 PERAK ! B i 500
6462 PERAK ! ZE & 500
6463 IRAR: ESUN ] & 500
6464 TEIT 4 RS P 500
6465 PRI B PSS iz 500
6466 PIRAK ! =2y v 500
6467 TEIT 4 ik 2 2 500
6468 PRI TIEAN 2 500
6469 TEIT 4 W AL o & 500
6470 IR G R 2 500
6471 IR MRiE L 2 500
6472 PERIKE a4 pos 500
6473 PRI 75 iz 500
6474 TV R ZHEEF & 500
6475 PERAK::! B oy & 500
6476 PRI X1 = 2 500
6477 TeVTA 74 P 500
6478 PIRIK: ! P EK 2 500
6479 TEIT 5 BRI = 500
6480 VLA LA P 500
6481 PRI L5 2 500
6482 FIRAK ! Ly 7 Uity = 500
6483 PERAK::! W )7 & 500
6484 PRI W )T & 2 500
6485 TeVTA W L4 2 500
6486 PERAK ! Ve SC e =2 500
6487 IRAR: Wi ¢ ot & 500
6488 eI B 2= 11 & 500
6489 PIRAK:N TR = 500
6490 IRAR: RN P 500




6491 PRI S 2 500
6492 TET 4 A X P 500
6493 VTR A & 500
6494 TEITAT AE¥n 2 500
6495 TEIT 4 ¥ Iz 500
6496 PERAK ! sk AR & 500
6497 yiRAR N Fk/ANEE = 500
6498 PERIKE RN P 500
6499 VTR kAR = 500
6500 PIRAK ! sy es v 500
6501 PIRARG:! 5K A 2 500
6502 eV R TR = 500
6503 TEIT 4 R P 500
6504 PERAK ! Tkt & 500
6505 TV FH I 2 500
6506 PIRAR:! A5 P 500
6507 PRI WA 2 500
6508 TR bt Iz 500
6509 PERAK::! H 13 & 500
6510 PIRIK ! 2§ = 500
6511 TEIT 4 TR & 500
6512 TEIT 4 AR 2 500
6513 IRAR:! XI5 I 500
6514 PIRAR:! AEBE P 500
6515 PRI kY Eail] 2 500
6516 PIRAK ! R A = 500
6517 TEIT 4 2w % 2 500
6518 PIRAR B 2 500
6519 TEIT 4 Wil Bl iz Iz 500
6520 PERAK ! T & 500
6521 TV k555 2 500
6522 PERAK: ! [ PN 2 P 500
6523 eI 4A X§ % = 500
6524 PIRAR! it P 500




6525 VTR MmE % = 500
6526 PIRAK ! Pk = 500
6527 PERAK::! B s 500
6528 PIRIK:! s = 500
6529 PERIKE T2 & 500
6530 PERAK ! 7lii32 & 500
6531 IRAR: Xk I 500
6532 TEIT MeE 2 P 500
6533 PRI JE UE 2 500
6534 IRAR: i 35 Iz 500
6535 TEIT JE WA 2 500
6536 eV R ERR = 500
6537 TEIT 4 e w2 P 500
6538 LT TRESY & 500
6539 IRAR:! VSyipi] P 500
6540 T WA P 500
6541 PIRARE| XI5 A 2 500
6542 TV R 7K = 500
6543 TEIT J Ikt 2 500
6544 VL JRipra s = 500
6545 TEIT 4 JEA=F P 500
6546 TETT A AT 2 500
6547 IRAR:! 5% & 500
6548 FIAAK ! ik & 500
6549 PIRAK:N b7pun i = 500
6550 PRI YEPN = 500
6551 TEIT PRRES 2 500
6552 yiRAK: 5 = 500
6553 PRI EEyAdl & 500
6554 TEIT 4 WK 2 500
6555 PIRIK ! ¥ F5 = 500
6556 TEIT 4 Wi P 500
6557 TEIT 5 WA 2 500
6558 PIRAR! Pk P 500




6559 IRAR:! W75 2 500
6560 TEIT EL AN 2 500
6561 PIRARG:! P 2 500
6562 PIRIK:! R e = 500
6563 TeVTA VRG2S i 500
6564 PERAK ! ENAL =2 500
6565 TEVT 4 PP IAYE: & 500
6566 IR Motk P 500
6567 PRI b 4575 2 500
6568 TeT 4 BRTy & 500
6569 IR D 2 500
6570 PRI B Al 2 500
6571 TeVTA RPN P 500
6572 PERAK ! EHn & 500
6573 TV e 3TAL & 500
6574 TeVTAH 2 P 500
6575 PIRAK:N 2 i 55 = 500
6576 PIRAK ! ¥ /N & 500
6577 PIRARG:! ¥ 4k =2 500
6578 Ty i3 = 500
6579 TeVTA TV i 500
6580 PERAK ! BEAE & 500
6581 yiRAK: XN & 500
6582 PERAK: ! Folbif P 500
6583 VTR Ir) 2 500
6584 TeVT 4 YRR 2 500
6585 TEIT 4 FiA 2 500
6586 I8 B A = 500
6587 TeVTA 5 A i 500
6588 PERAK ! E iz =2 500
6589 TV N & 500
6590 PIRAR:! Wi 355 P 500
6591 PIRAK:N eSS = 500
6592 TeVT 4 B G & 500




6593 PRI SFLL! iz 500
6594 TET 4 F5 7K P 500
6595 PIRARG:! Fi ke 2 500
6596 PIRIK:! e = 500
6597 TeVTA 7R Iz 500
6598 PERAK ! B A =2 500
6599 PIRIK ! PN v 500
6600 iR RISl & 500
6601 VTR Gk = 500
6602 IRAR: £y =Eit & 500
6603 PERAK::! JHETT & 500
6604 eV R o = 500
6605 TeVTA w2 P 500
6606 PERAK ! e KF =2 500
6607 IR (PR 2 500
6608 PIRAR:! (R P 500
6609 VTR B = 500
6610 PIRAK ! R & 500
6611 PERAK::! A & 500
6612 PIRIK ! KT = 500
6613 TeVTA ] i e P 500
6614 PERAK ! BN =2 500
6615 PRI BN o v 500
6616 iR T P 500
6617 PRI Fi4 = 500
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6619 PERAK::! X & 500
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6831 Weorm HX 2 500
6832 I T VAR A 4 & 500
6833 Weovm B 2 500
6834 Weor FIEH 2 500
6835 Weoie I Iz 500
6836 Weorm 5K Wk 2 500
6837 I DR i B = 500
6838 Weorm F iR P 500
6839 Weorm BB CD 2 500
6840 WeoiE W e Iz 500
6841 Weorm R 2 500
6842 Weor TR 2 500
6843 Weoie FEY P 500
6844 Weorm A% L R 2 500
6845 Wi VR e 2 500
6846 O W LUk B 500
6847 Weorm RSy 2 500
6848 I A & & 500
6849 Weorm Ko 2 500
6850 Weor B v 2 500
6851 Weois EAEN P 500
6852 Weorm 5K 2 2 500
6853 Weot ESunin I 500
6854 YT RILE P 500
6855 Yo RR A AL = 500
6856 Weois RAE 2 500
6857 k! J& 52 = 500
6858 Weor T4k ik 2 500
6859 o R i 500
6860 b Ak FRE = 500
6861 Wi KAl I 500
6862 W oA Sk o 500
6863 Weor Uigta 2 500
6864 Yo T4k & 500




6865 Weorm Rt 2 500
6866 I DR % i 500
6867 oA W A o =2 500
6868 e Vaki3lld = 500
6869 Weoie A i 500
6870 Weorm FIATRE =2 500
6871 Wt KPR & 500
6872 Bl PR p 500
6873 W DR T = 500
6874 Yo JaRE'S = 500
6875 WA T =2 500
6876 I DR F2E j5 500
6877 Bl o ik 2 500
6878 b Ak T3 s 500
6879 I DR HEH PR & 500
6380 Bl i PRI 2 500
6881 Weorm F7 R 2 500
6882 Yo P & 500
6883 WA Fdkrh =2 500
6884 YA T YHE I 500
6885 Weois I i i 500
6886 Weorm 1 2 500
6887 Yo TS v 500
6888 W F5 K P 500
6889 e Fza = 500
6890 Yo Jap & 500
6891 oA FIRAT =2 500
6892 Weor JIURSE 2 500
6893 o F5 ke i 500
6894 I TR 55 2 Ky & 500
6895 Wt 45 M4HE I 500
6896 W TR IR AT & 500
6897 e I = 500
6898 I i ATUHE ), & 500




6899 o (TP e 2 500
6900 I A F RN P 500
6901 YT A & 500
6902 o JANH) I 500
6903 B o e Iz 500
6904 Wy oTiE o = 500
6905 Yo AH R v 500
6906 o FIIRZY P 500
6907 W DR fH AR = 500
6908 Wi FsiA 2 500
6909 Weorm /N ER 2 500
6910 Yo Hiasf = 500
6911 ik L P 500
6912 Weorm iz 2= 500
6913 Yo H R v 500
6914 I TR FREF pos 500
6915 Weorm JIEAR 2 500
6916 Y A Jmll| = 500
6917 Weorm FI/NT 2 500
6918 o F5 A 75 2 500
6919 ik P AW 7 500
6920 e ik RAEA 2 500
6921 Yo i 5 v 500
6922 o W% P 500
6923 W DR ST, 2= 500
6924 Weois H i 2 500
6925 Weovm R 2 500
6926 Weor Wi E 2 500
6927 W o M e Iz 500
6928 I TR FEK = 500
6929 Yo IR/ YN v 500
6930 W oA J=r'n o 500
6931 o +5 A 2 500
6932 Weois SR P 500




6933 Yo A = 500
6934 b i 7R & 500
6935 ik Wi 2 500
6936 ik Wk 2 500
6937 B T Ny = 500
6938 ik Wk 2 500
6939 Wi 775 F 2 500
6940 o JRFEYIN i 500
6941 o FTCAH 2 500
6942 WeoiE ALl Iz 500
6943 o (=P 2 500
6944 7 ik F 55 2 500
6945 I DA FIkE & 500
6946 e ik FTICRK 2 500
6947 Yo Bk = 500
6948 i 50 B 500
6949 YA 5 |A) = 500
6950 WeoiE JIPE Iz 500
6951 o Sl 2 500
6952 o JI A 2 500
6953 B o FRe P 500
6954 e ik FiIE 2 500
6955 Wi ;NI 2 500
6956 o Pk E i 500
6957 Yo JT I, = 500
6958 Yo HH e & 500
6959 WoT F7 R s 500
6960 Weor kb 2 500
6961 W o 0k & 500
6962 e ik 4y 2 500
6963 I DR JINE & 500
6964 i + K, B 500
6965 Yo 2 7R = 500
6966 Weot (i & 500




6967 Yo fH K HH = 500
6968 Yo FIOLE & 500
6969 Weovm BN 2 500
6970 Weor 0w I 500
6971 Weoie A1 e i Iz 500
6972 Weorm o 5k 2 500
6973 I DR 5 = 500
6974 Weorm PR P 500
6975 Y A Lo = 500
6976 Wi B P 500
6977 k! P = 500
6978 Yo JTCRE = 500
6979 Weoie F5 1855 P 500
6980 Weorm IRk T 2 500
6981 Wt A ci} P 500
6982 Weors ki P 500
6983 YA 7R = 500
6984 Yo 7RG & 500
6985 Weorm JT IR 2 500
6986 o WK S 2 500
6987 Weois 7R P 500
6988 Weorm W 2 500
6989 I T T A & 500
6990 W eS| P 500
6991 Weor BT 2= 500
6992 Yo T4ks & 500
6993 Weovm +75 ke 2 500
6994 I DR SEir s & 500
6995 o DL Iz 500
6996 b Ak R 2 500
6997 I DR F R TR & 500
6998 WoTE HEE P 500
6999 Weor i 2= 500
7000 I AR D & 500




7001 o B/hNE 2 500
7002 Yo SR & 500
7003 Weovm B 2 500
7004 Weor I I 500
7005 B o 7R Iz 500
7006 Wy oTiE H 4 & 500
7007 Wi [ o] 2 500
7008 YT TR P 500
7009 Weorm Mk Bt 2 500
7010 Yo TR = 500
7011 ik FHIF P 500
7012 Yo TR = 500
7013 ik WK Bt P 500
7014 e ik Jai R 2 500
7015 Yo WUt v 500
7016 I T AE HEH R P 500
7017 Weorm e 2= 500
7018 T AT HH A P 500
7019 Weorm AT 2 500
7020 Wl e BN 2 500
7021 Weois 2=k P 500
7022 Weorm R AN 2 500
7023 Yo e y=s v 500
7024 W oA K EE o 500
7025 i /g 7 500
7026 Yo 205 5 & 500
7027 Weovm A 2 500
7028 ik = IEaN I 500
7029 o BTN 4 Iz 500
7030 Weorm RN 2 500
7031 I DR BN & 500
7032 Yl o4 B o 500
7033 i 2% 7 500
7034 I AR AL Nt P 500




7035 Weorm JIMi 2 500
7036 Wi T P 500
7037 Weovm FTRIT 2 500
7038 Yo R R = 500
7039 Weoie W) fe Iz 500
7040 Weorm i 2 500
7041 T YL & 500
7042 Weorm Tk P 500
7043 Weorm F5 Kok 2 500
7044 Wi 3L & 500
7045 Weorm AR A 2 500
7046 Yo & = 500
7047 Weoie AR F P 500
7048 Weorm fhsT 2 500
7049 Wt e S & 500
7050 Weors Bk Z% P 500
7051 YA PR = 500
7052 WeoiE FTIRA Iz 500
7053 Weorm AT 75 5 2 500
7054 I DT RN /N = 500
7055 Weois ST P 500
7056 Weorm (TIREL S 2 500
7057 ik | JakiiEs pis 500
7058 Yo R R P 500
7059 Yo Z2/NR = 500
7060 Weois RN 2 500
7061 Weovm R 7K 75 2 500
7062 Weor ANR 2 500
7063 o KT Iz 500
7064 Weorm B4l X 2 500
7065 b TR SyL = 500
7066 Weorm BN P 500
7067 Weor e 2= 500
7068 Weot RIR & 500




7069 Weorm LR 2 500
7070 Weois LIREEE: 2 500
7071 Wi RIS =2 500
7072 Weor ILIRCES I 500
7073 Weoie it 5 2k i 500
7074 Weorm N =2 500
7075 Wi NI 2 500
7076 O . B 500
7077 Weorm RITHL 2 500
7078 Yo I=Re v 500
7079 Wi R =2 500
7080 Weor i 2 500
7081 Weoie H /Ny P 500
7082 g il P 500
7083 Wi i = 500
7084 Weors PRIRTR P 500
7085 Yo B 4 = 500
7086 WeoiE WU Iz 500
7087 Weorm WUt 2 500
7088 Weor BRI 2 500
7089 Weois MR i 500
7090 Weorm ] SO} =2 500
7091 Yo (Epall v 500
7092 Y o1 it ¥ £ 500
7093 Weor TRz 2 500
7094 I AR Al P 500
7095 i 255 P 500
7096 I DR THE= 2 500
7097 o % Iz 500
7098 W TR ik = 500
7099 I T L7 = 500
7100 Weorm 7k & P 500
7101 Weor gk 2 500
7102 Sk LS4 = 500




7103 Weorm RAf 2 500
7104 Yo B 5 & 500
7105 Weovm by wiillay 2 500
7106 Weor W At A I 500
7107 Weoie M Ty i 500
7108 Weorm ] 3L 2 500
7109 Yo FRi 4> v 500
7110 Weorm i 21 P 500
7111 Weorm Wk e 2 500
7112 WeoiE (G &S Iz 500
7113 Weorm it v 2 500
7114 Weor (i 2 500
7115 Weoie i S P 500
7116 Weorm SSTi] =2 500
7117 Yo i) SCRE v 500
7118 Weors FH P 500
7119 e Y NEE & 500
7120 Wi I I 2 500
7121 Weorm (Ip'e4 2 500
7122 I DT T oth j 5 500
7123 Ak G ! = 500
7124 Weorm BRYLF =2 500
7125 Yo [N v 500
7126 Weorm 7 P 500
7127 Yo AN 43 = 500
7128 Weois WREE P 500
7129 Weovm Ja JP: e 2 500
7130 Weor JA £ 5 2 500
7131 o i SC 3 Iz 500
7132 Weorm &g Ly 2 500
7133 Wt IREAR I 500
7134 Y o1 I P 500
7135 Weor R 2 500
7136 Yo 1 SE = 500




7137 W DR En 2 500
7138 Yo BINE & 500
7139 Weovm 3! 2 500
7140 Yo JT A = 500
7141 B o X A Iz 500
7142 Weorm ] 2 500
7143 I DR TR = 500
7144 Weorm 1y P 500
7145 Yo +E = 500
7146 WeoiE FA & 500
7147 Weorm e e 2 500
7148 Weor IRANEES 2 500
7149 I DA ZENT = 500
7150 Weorm JTRCE 2 500
7151 Wt AT P 500
7152 DAk A5 WS o 500
7153 YA K3 = 500
7154 Wi FERAN 7N P 500
7155 Weorm Fi 2 500
7156 Weor DRk 2 500
7157 B o e P 500
7158 Wy oTiE Zs 1 = 500
7159 Weot A & 500
7160 o ME P 500
7161 Yo ZENT = 500
7162 I AR e P 500
7163 YT Ja & 500
7164 Weor FTIK 2 500
7165 Ak 2 fidt = 500
7166 WeoTia 2T 2 500
7167 Yo ATtk 25 v 500
7168 Weorm PR P 500
7169 Weor JT R 2= 500
7170 Weois e B 77 2 500




7171 Y A A W% = 500
7172 WA iy i 500
7173 Weovm fip e 26 2 500
7174 Weor BT I 500
7175 Weoie 2= % Iz 500
7176 Weorm RS 2 500
7177 Wi e ik 2 500
7178 Weorm i 2% P 500
7179 Yo FT RIS = 500
7180 I e R P 500
7181 Wi A 2 500
7182 ek W8 I 500
7183 I DA BRI ATEY & 500
7184 Weorm M 2 500
7185 Wt 7 P 1 & 500
7186 Y o1 + P 500
7187 Weorm T4k 7 2 500
7188 Ak ERSYZ & 500
7189 Weorm AARE: 2 500
7190 Weor IR 2 500
7191 Weois X4 R P 500
7192 Weorm B = 2 500
7193 Yo FH PR v 500
7194 Weorm Wk SR P 500
7195 W DR ISR & 500
7196 Bk :! ¥ = 500
7197 k! Jiei| = 500
7198 Weor KM 2 500
7199 o VSN i 500
7200 Wy oTiE DAL = 500
7201 Yo g £ v 500
7202 Weorm 2= S P 500
7203 W DR ZE WL 2 500
7204 Weois i 2 500




7205 Weorm Ny 2 500
7206 Yo A & 500
7207 Weovm XI| 4255 2 500
7208 W hH Sg 2 500
7209 Y i i = 500
7210 Weorm REIF 2 500
7211 I DR g & 500
7212 Weorm [ S P 500
7213 i JE #a 7 500
7214 YA EN e = 500
7215 Weorm LIVERE 2 500
7216 Weor A EE 2 500
7217 Weoie 2 P 500
7218 Woo Y/ SEET & 500
7219 Wt I NAN P 500
7220 Weors R W P 500
7221 Weorm IZ 2 500
7222 AL KN & 500
7223 Weorm 2= I0FE 2 500
7224 Weor (G EE 2 500
7225 Weois A i 500
7226 Weorm LIpR g 2 500
7227 I T A X = 500
7228 Weorm A P 500
7229 Weor I ST 2 500
7230 Weois VRG] P 500
7231 Weovm XIPFE 2 500
7232 Weor F/NK 2 500
7233 o Xij4E Iz 500
7234 Weorm F5 7K A 2 500
7235 Wt F3 7K 2 500
7236 WoTE F=E & 500
7237 Weor F IR 2 500
7238 I AR /NG P 500




7239 Weorm F 75 2= 500
7240 Weois 3 #5 i & 500
7241 Weovm WA 2 500
7242 I DR FHiL s 500
7243 Weoie TR Iz 500
7244 Wy oTiE F = 500
7245 Wt UG & 500
7246 Weorm PR P 500
7247 Weorm RELIYZS 2 500
7248 WeoiE F5 i & 500
7249 Weorm JAPN7S 2 500
7250 Weor FiKE 2 500
7251 Weoie Wk 1 P 500
7252 Woo IR Lr & 500
7253 I A 55 5 Bl = 500
7254 YW1 EVERL g 500
7255 Weorm 5 2 500
7256 I A F i & 500
7257 Weorm 45 % 2 500
7258 Yo A W = 500
7259 Weois ke P 500
7260 Weorm KBt 2 500
7261 Weot Wit R 2 500
7262 O FHL P B 500
7263 Weor EISEYA 2 500
7264 Yo FRL Y & 500
7265 Weovm L1879 2 500
7266 Weor 13 W] I 2 500
7267 o LIEAW3 Iz 500
7268 Weorm LK e 2 500
7269 Yo 3N = 500
7270 Weorm BRYT e P 500
7271 Weor LIEARES 2 500
7272 Yo FRIK ¥ & 500




7273 Weorm LN 2 500
7274 Weois KRR P 500
7275 Weovm ik Bt 2 500
7276 Weor ¥ 7T W I 500
7277 Weoie Eya i 500
7278 Weorm M e 2 500
7279 Wi FEASC = 500
7280 Weorm 7 Bt P 500
7281 Weorm AR 2 500
7282 I 5T R EHE v 500
7283 Weorm A 2 500
7284 Weor A Mg 2 500
7285 Weoie KW P 500
7286 Weorm Fhe 2 500
7287 I A (AN = 500
7288 B T4 SINEES g 500
7289 Weorm K% 2 500
7290 WeoiE (AW N Iz 500
7291 Weorm AW\ 2 500
7292 Weor AaF5 2 500
7293 Weois KK bt i 500
7294 Weorm AW =2 500
7295 Wi 3 115 2 500
7296 Weorm Wit P 500
7297 Weor Wi 11 A 2 500
7298 Hor ¥ B P 500
7299 k! BN = 500
7300 I DR X 4 b5 500
7301 o i Iz 500
7302 Weorm fifd 45+ =2 500
7303 Wi fifd 2z 1] 2 500
7304 Bl o4 eREA 2 500
7305 Weor X 2 500
7306 Wi FiE 2 500




7307 Yo R 3 = 500
7308 Yo AN = 500
7309 YT T = 500
7310 o IRES I 500
7311 B o A= Iz 500
7312 e ik XIS 2 500
7313 Wi Koy 2 500
7314 Weorm HI s P 500
7315 Weorm 2% 2 500
7316 WeoiE LDl Iz 500
7317 Weorm RAEE 2 500
7318 7 ik IR 2 500
7319 ik [SRHYIN P 500
7320 b Ak i HE P 500
7321 I DR BN = 500
7322 O ERE= B 500
7323 o R 2 500
7324 v SN 2 500
7325 WA FARKR =2 500
7326 i Y= 2 500
7327 B o T P 500
7328 e ik ] 7K F 2 500
7329 Wi EEsa 2 500
7330 Weorm fATAT P 500
7331 o il 2 500
7332 Yo Dk & 500
7333 Weovm i AR 2 500
7334 7 ik A1 B 2 500
7335 W o AR Iz 500
7336 e ik R 2 500
7337 Wt =58 & 500
7338 Weorm ok P 500
7339 o A 2 500
7340 Weot RS & 500




7341 Yo A V5V = 500
7342 Yo W & 500
7343 oA TP =2 500
7344 Weor X/ 2 500
7345 Weoie B i 500
7346 Weorm X% 5 =2 500
7347 Wt JA A & 500
7348 Weorm FitH it P 500
7349 Weorm B ool 2 500
7350 Yo FAOLEE v 500
7351 v S =2 500
7352 Weor XIHE 2 500
7353 Y o1 == I HE P 500
7354 Weorm CISES =2 500
7355 Y oA JE 3L = 500
7356 Weors Pt P 500
7357 Bl i Py 2 500
7358 TRz FH .25 = 500
7359 WH Z A 2 500
7360 HHZ & 2 500
7361 W 2 F= i 500
7362 WA 2 2 & 500
7363 TR 2 /K v 500
7364 A 2 W/ P 500
7365 WA 2 7ELE = 500
7366 TRz ¥ /INi & 500
7367 WH Z KK T =2 500
7368 HH Z REMIER 2 500
7369 WH 2 B AL AR i 500
7370 R ERF 2 500
7371 HHZ ¥ )7 5 & 500
7372 WA 2 Wi 1B AE P 500
7373 HH Z AR 2 500
7374 HHZ Mok H 2 500




7375 R TN 2 500
7376 TRz LRSS & 500
7377 WH Z (9 2 500
7378 HH 2 B A I 500
7379 TR 2 FBMI & 500
7380 R 7 2 500
7381 WF 2 JE W I 500
7382 W 2 T 5= 500
7383 R XYt 2 500
7384 Xz FAESE v 500
7385 WA 2 bt s 500
7386 HHZ F I 2 500
7387 WH 2 W )7 o P 500
7388 R STEL 2 500
7389 WF 2 SFESIC P 500
7390 R PR P 500
7391 R FRK 2 500
7392 TRz FE4 = 500
7393 WH Z PG 2 500
7394 TRz ¥ AR = 500
7395 WH 2 e P 500
7396 WA 2 Fi R = 500
7397 HEF 2 Tt v 500
7398 R S i 500
7399 WA 2 Fo 5t = 500
7400 HH 2 S ET P 500
7401 WH Z TR 2 500
7402 HH 2 (//EET N 2 500
7403 WH 2 2K Iz 500
7404 WA 2 ¥t = 500
7405 Xz T& = 500
7406 R Wik P 500
7407 WA 2 M2 E = 500
7408 TRz FHEF & 500




7409 R M IE =5 2 500
7410 HH Z 5K i & 500
7411 WH Z XA =2 500
7412 HH Z F3 PR I 2 500
7413 T YA & 500
7414 R TR IR =2 500
7415 W 2 Pt & 500
7416 A 2 MRS P 500
7417 R 7 H 45 2 500
7418 HHZ fie R & 500
7419 WH Z fiE )%, =2 500
7420 HHZ P+ 2 500
7421 W 2 95 2 i & 500
7422 R [R5 =2 500
7423 F] & Wb gk = 500
7424 A 2 PN P 500
7425 R D& 2 500
7426 HHZ B & 500
7427 WH Z Bk =2 500
7428 HHZ BOWk 2 500
7429 W 2 FAF & 500
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